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. A 9Ra % Tt fRen o sdiiferes sRebl w1 iR il T HIfSw) (ST 150 el W i)

Explain the role of geographical factors towards the development of Ancient India.
(Answer in 150 words) 10

. TETEHT Tl SR Teiwirer SR o fo1en &R UwgdR & ufd W o 9 SR on? (SWW 150 vl o i)

What was the difference between Mahatma Gandhi and Rabindranath Tagore in their approach towards
education and nationalism? (Answer in 150 words) 10

. fava = fafa= <o o W9 & A © 'H 9 g -3nfie garEl i 3SR Fifsu)

(3T 150 vreEi W i)

Bring out the socio-economic effects of the introduction of railways in different countries of the world.
(Answer in 150 words) 10

. SWTRTe 3 | @ gRem W Sorarg uiad= & aiomdt 1 faesm wifem) (SWR 150 vl § )

Discuss the consequence of Climate change on the food security in tropical countries.
(Answer in 150 words) 10

. 9 e A ST % G i SUCeNdl 3R UEW % Gehe | o S W@l ©?

(3 150 vr&ET W i)

Why is the world today confronted with a crisis of availability of and access to freshwater resources?
(Answer in 150 words) 10

. fpaid &8 o €2 3 S % % Tead g aEl @ i = wRd €2 (ST 150 vl o i)

How are the fjords formed? Why do they constitute some of the most picturesque areas of the world?
(Answer in 150 words) 10

. Sfeor-ufyem IA iR & g’ (qet) b e 22 39 e JiaH qod gt 3 e &

UiEhideh ARMER i w4 gurfad fran 22 (3T 150 vr=at o i)
Why is the South-West Monsoon called ‘Purvaiya’ (easterly) in Bhojpur Region? How has this directional
seasonal wind system influenced the cultured ethos of the region? (Answer in 150 words) 10

. F AT G © T, MyfR R ¥ fode U R & €9 H AT God @il ST @ 72

(3T 150 ol § i)

Do you think marriage as a sacrament is loosing its value in Modern India?  (Answer in 150 words) 10

. AR TS | Feataa § afciec b ¥ W 8?2 T iy (3WX 150 or=8t ¥ <ifww)

Explain why suicide among young women is increasing in Indian society. ~ (Answer in 150 words ) 10
=8 i SARA 1 SWE e WEEd BF 4 o o B qeEl % GHSTHO R gHS GG B = R
(3T 150 vI&Et § EifT)

Child cuddling is now being replaced by mobile phones. Discuss its impact on the socialization of children.
(Answer in 150 words)10

Afeeh Ta SR o w1 gea faevand = €2 9 oY gied € ST 9 % favivand wrde g o
aisft off wafem &7 (SR 250 wredl ¥ i)

What are the main features of Vedic society and religion? Do you think some of the features are still prevailing
in Indian society? (Answer in 250 words ) 15

Fodd el & SNF T3 T3 92 k-] agaie 91 97 39 aehih! aeelel 4 ARAE GHSl i hd
yeifera feram en? (3¥R 250 vrsEt o ifew)

What were the major technological changes introduced during the Sultanate period? How did those
technological changes influence the Indian society? (Answer in 250 words ) 15
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G o Sftafies e 3 Sfeental i hd e fHan SR eiufefies Scfted & wfa srfeerd
wfafsan == oft? (3T 250 Y&l ¥ i)

How did the colonial rule affect the tribals in India and what was the tribal response to the colonial oppression?
(Answer in 250 words) 15

qNG 1 el qeXE Ty GHEE emarst W el Sife ot 31 &5 § giefae @ 1 dadt s feefa w
T ST (3T 250 vl W Q)

Comment on the resource potentials of the long coastline of India and highlight the status of natural hazard

preparedness in these areas. (Answer in 250 words) 15
qNd ¥ rpfde aedfa w1 fafaear & fau soere SRl &1 ggee ot S9! faa=m Sifsu 9rd
ot a9 &l | TS SIYERTAl % HE 1 SThad it (3T 250 Y&l ¥ i)

Identify and discuss the factors responsible for diversity of natural vegetation in India. Assess the significance
of wildlife sanctuaries in rain forest regions of India. (Answer in 250 words) 15

qRa ¥ O fashra oo fohma & @ swendiad 3 | fawea o4 ga? (SWX 250 sl § dfan)
Why did human development fail to keep pace with economic development in India?
(Answer in 250 words ) 15
1960 & I H I[E @E AEAH 9§, 9Rd fovd § Tk g @™ fEde & §9 § 39 &R )
(3= 250 vrsEt o ifem)

From being net food importer in 1960, India has emerged as a net food exporter to the world. Provide
reasons. (Answer in 250 words) 15

F AR TR o TEdetor Thel i SR off fireh gerEeRtor Sivan Y WA S 22
(3T 250 IRl W St

Does urbanization lead to more segregation and/or marginalization of the poor in Indian metropolises?
(Answer in 250 words) 15

g | St erferar Tiavier ok feer < € i »? (ST 250 oISt ¥ <ifww)
Why is caste identity in India both fluid and static? (Answer in 150 words) 15
ST UE=M To HYRehdl T IT-SERA] Aefeeee & Yo i foe=r Hifsa|

(3T 250 vI&ET § EiRT)

Discuss the impact of post-liberal economy on ethnic identity and communalism. (Answer in 250 words) 15



